KLAX

= PAYOFFS =

A KLAX IS 3 OR MORE
TILES OF THE SAME
COLORIN A ROW...

VERTICALLY

50 points
1 KLAX

HORIZONTALLY

1000 points
1 KLAX

5000 points
2 KLAXs

10,000 points
3 KLAXs

DIAGONALLY

5000 points
1 KLAX

10,000 points
2 KLAXs

20,000 points
3 KLAXs

[
———
20,000 points
2 KLAXs

Score Multiplier increases
for multiple KLAXs.
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= PAYOFFS =

A KLAX IS 3 OR MORE
TILES OF THE SAME
COLORIN A ROW...

VERTICALLY

50 points
1 KLAX

HORIZONTALLY

1000 points
1 KLAX

5000 points
2 KLAXs

10,000 points
3 KLAXs

DIAGONALLY

5000 points
1 KLAX

|
——
10,000 points
2 KLAXs

20,000 points
3 KLAXs

20,000 points
2 KLAXs

Score Multiplier increases
for multiple KLAXs.




